Quiz
Math 50051
REMARK: The problems denoted (**) are the trickiest.

1. (50 pts) The joint density function of X and Y is

. gy O<z <], O<y<2

f((ff Y= .
0 otherwise

a) Find the density function of X,

b} Find the density function of ¥

¢} Are X and Y independent?

d) Find E(X).

e} Find Var(Y). -
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2. (25 pts) The joiut density of X and Y is given by
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3. (20pts) For each of the following, answer TRUE or FALSE. Give a brief justification

for your answer.

(4 | TRUJ | FALSE | Given events A C B, we always have P(B) > P(A).
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A and I are disjoint events then P{AN B) = P(A)P(B).

P(han) = &

(d) | TRUE JFALSE | Tossing a dice is & binomial experiment.
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